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31. Write a synonym of following words.

(a)Allay (b)Brittle (c)Gluttony (d)Obliterate (e)Slump
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32. Transform the sentences as Directed.
(a) Only Allah can help us. (Make it negetive)
(b) My hair grows very fast. (Make it exclamatory)
(c) Let the boy be warned. (Make it active)
(d) I read them for pleasure. (Make it complex)

(e) I am sure that he will succeed. (Make it simple)
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a) None but Allah can help us.
b) How fast my hair growsl!
c) Warn the boy.
d) I read them so that I can get pleasure.

e) I am sure of his success.

33. (a)She was wearing ugly dresses to wedding. (Use appropriate articles in the
gaph)

(b)""How will they get there?" (Turn into reported speech)
(c)Do the work. (Change it into passive mode)

(d)"Uneasy lies the head (Complete the proverb)

(e)What does the phrase "Go dutch'" mean?
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34. (a)Happiness consists contentment. (Use Preposition)
(b)Add two two. (Use Preposition)

(c)Just now he (have) his dinner. (Use the correct verb)
(d)What is the noun of the word 'Maintain'?

(e)Who wrote the poem '""The Rhyme of the Ancient"?
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